= AH O
N = 0 &8 AF S & Al A
2 R
H: NHAE 29
@2 2258 ME2Z (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
Rl 1,593,997 1,302,078 291,919
< 10,920
= 1,583,077
NEAE 29 281,404 308,504 A27,100
S8 NE32Y 166,594 179,560 A 12,966
KA 202 Mgz 146,374 152,645 NB,271
101 Q1A H] 110,583 117,929 AT,346
04 JIZHHIZE2NHEE S 110,583 117,929 N7,346
o Y XYM & 29 L WM XZ A
33,740 * 229 * 120 89,074
o XI2Al HIDHAl - ZPETHAF LTHIZAF & & A
i 33,740 * 5 * 48 8,098
o AHEE R 13,411
- S XYM & 29 L AKX O A
9,074,000 * 13.8% 12,293
— K2HAl HIZEAl - 22 THAE L HIERAF & &AL
= 8,098,000 * 13.8% 1,118
201 Yet2HH| 16,791 19,376 A2,585
01 AFERZeltl 9,000 11,085 A2,085
< AB~ZH| > 0
o KA HEd 35,000 * 20& 700
o XYMl T & A& 100,000 * 5& 500
o XA 2ot &8
30,000 * 1100 » 2= 660
< YLE > 0
o WHESAA, WBMEZ=AO, XA AL
23] 70,000 * 6 * 32/ 1,260
< Sl > 0
o KA HNRALZ2E 42X
7,000 » 78 » 30 1,470
o XA 20 H2=X 7,000 x 7H * 90Y 4,410
02 3224 7,791 8,291 A500
< BBL2LAA > 0
o HAHFX YHIXAM SE(ED1)
1,720 = 2000 * 12€ ~ 11S¢ 4,541
o HI|, A2 XA (L) 250 * 13,00004 3,250
202 OdHl 13,500 15,340 A 1,840
01 =2l 13,500 15,340 A 1,840
o HAYEH BSYR FA
50,000 * 4% * 16 3,200
o WAXEZAL L SUANIAL=
20,000 * 6% 70 8,400
o HQYYQl NRZA 50,000 * 2% * 19 1,900
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g3 NgME =24

o T o

o9l EBF NI2Y (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ofl AF o4 il b o bRz
403 RHXISHH SR =0 5,500 0 5,500
02 2125 0T CH S AF2t bl 5,500 0 5,500
o XN HEOl M2 HAAAEL T
5,500,000 * 14! 5,500
N HAYS X2 20,220 26,915 76,695
201 L2y 5,700 7,160 A1,460
01 AR eIt 4,510 5,120 £610
< Ysragyl > 0
o DNNEE D% TalH Y3
200,000 * 3H 600
o NYMLEE HUDXA 3,910
- QB A 50,000 * 784 * 53 1,750
- 28IXA 60,000 * 182t A  2Z 2,160
2 T2 1,190 2,040 £850
< NEFHISTY > 0
o NINME8E =002y RAES
170,000 * 78 1,190
403 THXIEHRIS XH 0] 14,520 9,755 ~5,235
02 BJI2HS 0 CH & CH 8 AF2 bl 14,520 19,755 75,235
o HEXYAH BRAIAH 22 SN2%
960,000 * 128 1,520
o SHNYM FBAAL (eTax) SR
250,000 * 128 3,000
KA =422 114,810 128,944 A14,134
HE =L TAF AT 66,645 70,069 A3,424
101 @121t 12,672 12,012 660
VIBEBTEES =P 12,672 12,012 660
o NEF MBS U I OIF
33,740 * 11Z » 302 11,135
o 4HPER 1,135,000 * 13.8% 1,537
201 L2y 53,973 58,057 A4,084
01 ARl 43,241 45,221 A1,980
< Ysragll > 0
o FellA gz U 2W SN2 MW
66,000 * 408 A 2,640
o FEMFIIA LEL4E
4,600 * 13,7005 * 1.1 * 50/100 34,661
o SAME FUNH AEL4E
6,000 * 4003 * 1.1 * 50/100 1,320
o 0I9AE eIt ABEL42
20,000 * 2005 * 1.1 * 50/100 2,200
o FUCH EAZ2E BX 44,000 * 208 880
<2gag > 0
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SH: WD
B HESY

@“e: AH2Y (&2 &)
- _ _ N
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH Oﬁ/?OH Hns2
< 294 > 0
o HAAMRRS EFAY
70,000 = 8% = 63| 3,360
o ZAAAIRIES /Y
70,000 = 3% * 20 4,200
o HUAQRRASG MAMBE E X2
200,000 * 43| 800
< 2 EH| > 0
o HIER F=& 7,000 » 5H * 90 3,150
o ZAHEAN A= EH| 7,000 » 5% * 70 2,450
o HALFA Xtz HH| 7,000 *» 5% = 80 2,800
02 =323l 12,750 2,450 10,300
o HEH B2 MESESEES
3,500,000,000 * 0.11% * 34 11,550
o 3H L HUYARFA eI
100,000 = 1CH = 12& 1,200
202 o4 HI 5,000 9,000 A4,000
01 2LH0HI 5,000 9,000 A4,000
o Jld, &E3dA L3P R F&
20,000 = 2% * 65¢! 2,600
o HoAd AR =X 20,000 = 2% » 60 2,400
203 YR F&d| 26,000 26,000 0
03 AIHFXGRF=EY| 26,000 26,000 0
o AT MUMFA X XNEHE ==
23,000,000 23,000
o ZNEAIS HERFE 3,000,000 3,000
207 ARl 38,800 35,520 3,280
01 1249l 30,000 30,000 0
o BAFEAJMAAE S (10240]4)
5,000,000 * 6 30,000
02 & AHHEHH| 8,800 5,520 3,280
o OtALZAICHACHLHAIAE 22
5,940,000 * 14 5,940
o UFIEOHUHAIAE 2 2,860,000 * 14 2,860
SAR2)| 29 33,673 35,892 A2,219
SAR2)| 29 33,673 35,892 A2,219
101 14| 6,913 10,192 A3,279
04 JIZtMZ22XsSEx 6,913 10,192 AN3,279
o SAR)| FEIN S5 REX
33,740 = 1 = 180 6,074
o 4UIBEZ 6,074,000 * 13.8% 839
201 2EtE3F| 24,360 25,700 A 1,340
01 A2 2eltl 24,360 25,700 A 1,340
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M HRD
T T2
R 2SR 2

- _ _ HEE
SN-EHH . SH(BH) - HPAY - BE2 Ao il ot o 2t
01 =LHoil 2,400 0 2,400
o 2 2o 50,000 * 4% = 12 2,400
301 YureEAa 4,030 4,030 0
10 S ArAIH| 24 4,030 4,030 0
o 2d D 130,000 * 31 4,030
405 XhoHE S 110,000 60,000 50,000
01 TatL 2B SH 110,000 60,000 50,000
o 4832 20,000,000 * 3CH 60,000
o HEss 50,000,000 * 1CH 50,000
IZRML 3,900 3,900 0
201 YLere | 3.900 3,900 0
01 ArR22lt| 3,900 3,900 0
< ey 0
o BRM 20,000 * 3024 600
o BRI 2
200,000 * 524 * 20} 2,000
o TR SH++2(28 . E)
130,000 * 102 1,300
SRV INEEIEES 21,840 21,840 0
=3 10,920
= 10,920
201 YLt 16,240 16,240 0
3 8,120
= 8,120
01 At22lt| 16,240 16,240 0
o LM ALH 01F S48
30,000 * 2224 * 23] 1,320
=3 660
= 660
o IR =z
268,400 * 1521 * 23] 8,052
3 4,026
z 4,026
o 2Tt bR
200,000 * 1521 * 23] 6,000
3 3,000
z 3,000
o 2Rt Y otz
200 * 2, 17004 * 23l 868
3 434
= 434
202 OiH| 5,600 5,600 0
3 2,800
z 2,800
01 =LHoiHI 5,600 5,600 0
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=R

. el
o9l =3

B Ol (B) - HTAY - B sro e
o I RMA AEHE! 20,000 = 4% = 70 5,600
= 2,800
= 2,800
541,570
AL Xl 2el 354,570
2Bt ZH| 270,410
A 22| 44,710
< YBt=ZH| > 0
o AL MIjetE&teldl 29 450,000 * 123 5,400
o A ZHH A EH 450,000 * 53| 2,250
o A getae 9 350,000 = 12& 4,200
o HA &2 A& 49 250,000 * 123 3,000
o HA H3tX HA EY 1,200,000 * 23| 2,400
o A XNt 34 29
1,000,000 * 23| 2,000
o HA BATUIB 3= 2o
120,000 * 38 * 6 2,160
o HA HEA HIH YUE(HdY)
220,000 * 3392 7,260
o ZHAL 2telHl 30,000 = 12& 360
o FAb SHEA z2tel UM 7Y
121,000 * 5& » 10& 6,050
o FAb 22l UM
100,000 = 8& » 6& 4,800
< Sl > 0
o IEZRML SR = 7,000 » 6% * 115 4,830
=223l 225,700
< BELSLAHA > 0
o FA SE2ALRES 1,600,000 * 13 1,600
o X2ME 32| 69,974,000 * 13l 69,974
o 23 M3 86,805
-Jlez 3,750 * 650kW = 12& 29,250
- AMEZ 80 * 59,953kWh = 12& 57,555
o AL HMIIR3 50,000 » 123 600
o HAb Hot=E 2R3 9,109
-JI2= 27,050 » 128 325
- AIEZ 1,220 = 600 » 12& 8,784
o HAL AIEZEHl |X 2,100 » 8,453m 17,752
o FHAL HSI| M2 4,000,000 = 1CH 4,000
o AL 22 M2 750,000 * 2CH 1,500
o HA HE =g 480,000 * 2CH 960
<zl > 0
o AL HYHEe K] 850 * 9,0004 * 4 30,600
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M HR
T T2

o HArzel (&2 &
- _ _ N
2N -3 - c2(3H) - NEME - HES Ol & oK ioﬂ/i\_FOH Hns
o AL HEEY & 1,000 * 7004 * 4E 2,800
202 O HI 4,160 4,320 A 160
01 =2LHAHI 4,160 4,320 A 160
o ZBFMA & FAI2ALSER FX
20,000 * 4% » 52 4,160
405 XH&HFE SHI 80,000 30,000 50,000
01 XM =EFHSHI 80,000 30,000 50,000
o HAt ==HIE uX 2,000,000 * 15& 30,000
o MAEHD R=AIY 50,000
- 8XEHD 800 * 32,5004 26,000
- dXED 2elED| 2,200,000 * 64 13,200
- AXER D &t D) 3,600,000 * 34 10,800
S FHAF JFR D] 117,000 0 117,000
401 AlEHIL 20 117,000 0 117,000
01 Al&HI 117,000 0 117,000
o HAtW E=2€& uA 1,500,000 * 34JH A 51,000
o FA 2R S HIEEHE 2H
55,000 * 1,200m" 66,000
S8 HAr22l 70,000 0 70,000
401 AlEHIL 20 70,000 0 70,000
01 Al&HI 70,000 0 70,000
o M =24 RYE S 33,003 * 606m 20,000
o T3 =4 RYE Y2 10,000,000 * 14! 10,000
o Ma& HAI=Z4 HIOE X, 210 RAE
= 20,000,000 * 14 20,000
o 52 24 RYIE g, HAE &M
20,000,000 * 14 20,000
HYSHHAHI (ML) 101,854 111,398 A9,544
ol 29| 87,694 96,108 A8,414
ol 29| 87,694 96,108 A8,414
101 Q124 4| 46,774 55,188 A8,414
01 2= 46,774 55,188 A8,414
< =G> 0
o AlZtI2fsY
7,300 * 22 * 21A12F « 12& 40,472
o AZ2tAZ2 R4S (RIEI|AL)
7,293 » 98 * BAIZt » 123 6,302
203 PR =&l 40,920 40,920 0
01 JI2A2IYRF=EH| 36,300 36,300 0
o B 3,025,000 *= 12& 36,300
04 2A2IERFEYI 4,620 4,620 0
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M HR

B WESAAH (WD)

Crel: olet2 oy TR
SA - M. CHY (B HEAY . N2 A} OH HEE =}
SH M HA(FA) - HRAE - S = &= O] AFOH S5

< 302 =1t
(350,000 + (5,000 * 7)) » 12& 4,620
Jl=2Z4l 14,160 15,290 A 1,130
| =& Hl 14,160 15,290 A 1,130
201 LBt A 14,160 15,290 A 1,130
01 AtR2teld] 12,720 13,850 A1,130
< ot=EZH| > 0
o TEH & SAJ EYH
250,000 = 8CH * 44 8,000
o mMA El 100,000 * 1CH = 40 400
o SAEX 25,000 » 58tA « 123 1,500
o j2IRA=ER 2,820
- 22X 15,000 = 5% * 12& 900
- XX 10,000 * 165 = 12& 1,920
02 223l 1,440 1,440 0
< BE23HHMA > 0
o M3tz 110,000 = 104 = 12&8 1,320
o RUEEERS 10,000 = 1CH * 12& 120
Hess () 215,000 221,000 26,000
28NS 215,000 221,000 26,000
SONES 215,000 221,000 26,000
311 Xt =0l ktatet 15,000 21,000 26,000
06 JIEFX =0l At&te 15,000 21,000 26,000
o 2atdlye XL =01Xae 15,000,000 * 13 15,000
601 XM= =4E 200,000 200,000 0
06 JIEI=Z2UHXL =S4 200,000 200,000 0
o U NUSVIAS
200,000,000 * 13 200,000
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